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Test 1 (A)

Question 1. (10 marks)
a) Briefly state the three types of elementary TOW operations.
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b) Using elementary row operations, find the reduced row-echelon form of the following matrix.

00 1 2 ({22&‘75@:’:\ i"\ ;,{}' m(

; ; _2 —61 7 oo v 2 Q~
o - T P, - 2
. 1__ 42" ::(‘(:‘“" i, LO {Iﬁ ) \ 2_ \
o+ 52
Loms L s B
S o O { VZ'
, T |
» Z{ o 3 ST 5> 6 o o




"Question 2. (10 marks) The following is an augmented matrix for a system of equations in row
echelon form.

10 °5 3
01 o6 5
00 a-6 b+7

. What are the values of @ and & so that the system has:
a) no solutions? '

b) infinitely many solutions?

a-b= (> A blf=0

{ q= b AN O;’fﬁ ~ 1

¢) one solution?



Question 3. (10 marks ), Solve the followihg system of equations:
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+ 20 + 2x3 — dxg = =2

X2 4+ 3x3 4+ 3%y = 1

+ dxy + 8x3 + 2x4 = 0.
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'Question 4. (10 marks) Given:

2 3
2 -1 0 0 3
A‘{_Ol 5}3‘[21 4}(::[—1 —1}

Computing the following where possible. If not possible indicate so.
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Question 5. (10 marks) Find A given:

\



- Question 6. (6 marks) Given n x n invertable matrices A, B and C state whether the fol]dwing
statements are always true (T) or not (F).

a) (B+C)A=BA+CA T

b) (AT =4 T
Q) (AB)"l=p-14-1 T
d)AB=BA F

e) (B5)f1 — (B—l)s T _
HA+B) 1 =4-14p1 F

Question 7. (4 marks ) Determine which of the following are elementary matrices. Circle the ele-
mentary matrices: '
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